ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-1) Name:
CHALLENGE

Time:

233)

(2 0) = 8) + (86 + (—69))) + 7 x 6 — (10 + (=10)) = 7 =

234)

53 — (=6) X (((3x (=3) = (—9)))) + (2 x (=6) + (17+ (=37))) +8 =

235)

(5x0)x80)—(((2x0=+(=35)))) x 9+23+48 x (—48) =

236)

(1% 0=+ (—68))= (25— (—15) — (44 —91)) + 70 =7 — 4 =

237)

(17=55)4+0)+0—(=24) — (((20 = (—4) = (=H)))) x (0+3) =

238)

6 (=9) +50 + (4 + (=4)) = (((0 x (=8) = (=2)))) + (61 — (-19)) =

239)

(3= (=22)) = (88 — 5) x (((0 x 1= (=2)))) x ((21 + (=79)) + 90) =

240)

(50 =+ 10) + ((45 — (—22)) x ((0+6) x (—13))) +9 — (74 + 25) =
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